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Question Number : 1 Question Id : 86435113700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following state is the Wular Lake located?

. Rajasthan

2. Punjab

3. Uttar Pradesh

4, Jammu and Kashmir

Options :

86435145901. 1
86435145902. 2
86435145903. 3
86435145904. 4

Question Number : 2 Question Id : 86435113701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following place receives the highest rainfall in the world?

1. Silchar

2. Cherrapunji
3. Mawsynram
4. Guwahati

Options :



86435145905. 1
86435145906. 2
86435145907. 3
86435145908. 4

Question Number : 3 Question Id : 86435113702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The river Narmada originates from

1. Satpura

2. Amarkantak

3. Brahmagiri

4. Slopes of the Western Ghats

Options :

86435145909. 1
86435145910. 2
86435145911. 3
86435145912. 4

Question Number : 4 Question Id : 86435113703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The National highways system is the responsibility of

1. State Governments

2. A Special Roads Authority

3. State and Central Government
4. Central Government

Options :
86435145913. 1
86435145914. 2



86435145915.3
86435145916. 4

Question Number : 5 Question Id : 86435113704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following measures are effective for soil conservation in India?
A. Avoiding crop rotation

B. Afforestation

C. Encouraging the use of chemical fertilizers

D. Limiting shifting cultivation

Choose the correct answer from the options given below:

1. A, B and D only

2. B and D only

3. A, Band C only

4. A, B, Cand D only

Options :

86435145917. 1
86435145918. 2
86435145919. 3
86435145920. 4

Question Number : 6 Question Id : 86435113705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is the longest river in Peninsular India?

1. Narmada
2. Godavari
3. Krishna

4, Mahanadi

Options :

86435145921. 1
86435145922.2
86435145923. 3
86435145924. 4

Question Number : 7 Question Id : 86435113706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is India’s oldest oil Refinery in India?

1. Haldia
2. Koyali
3. Digboi
4, Mathura

Options :

86435145925. 1
86435145926. 2
86435145927. 3
86435145928. 4

Question Number : 8 Question Id : 86435113707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is not related to the human geography?

1. Bio-climatic

2. Way of Human life

3. Economic way of Human life
4. Social way of Human life

Options :

86435145929. 1
86435145930. 2
86435145931. 3
86435145932. 4

Question Number : 9 Question Id : 86435113708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Using any map projection, there will always be some distortion because:

1. A map has to depict the curved surface of the three-dimensional earth on a two-
dimensicnal sheet of paper.

2. Equivalent projections must be distinguished from conformal ones.

3. Some spatial phenomena are not tangible or visible.

4. The map scale is changed.

Options :

86435145933. 1
86435145934. 2
86435145935.3
86435145936. 4

Question Number : 10 Question Id : 86435113709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The States which have common borders with China are:
A. Jammu and Kashmir

B. Sikkim

C. Arunachal Pradesh

D. Himachal Pradesh

Choose the correct answer from the options given below:

1. A, B and D only

2. A, B, Cand D only
3.Cand D only

4. A and C only

Options :

86435145937. 1
86435145938.2
86435145939. 3
86435145940. 4

Question Number : 11 Question Id : 86435113710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which port is known as Queen of Arabian Sea?

1. Vizag port
2. Paradip port
3. Kochi Port
4. Mumbai Port

Options :
86435145941. 1



86435145942. 2
86435145943.3
86435145944. 4

Question Number : 12 Question Id : 86435113711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following two states are largest producers of Coal in India?

1. Jharkhand & Chhattisgarh

2. Madhya Pradesh & Orissa

3. Bihar & West Bengal

4. Andhra Pradesh & Chhattisgarh

Options :

86435145945. 1
86435145946. 2
86435145947. 3
86435145948. 4

Question Number : 13 Question Id : 86435113712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List Il

(Airports) (City)

A. Chhatrapati Shivaji International Airport .. Bengaluru

B. Kempegowda International Airport Il. Nagpur

C. Dr. Babasaheb Ambedkar International Airport  |lll. Kolkata

D. Netaji Subhas Chandra Bose International Airport|lV. Mangalore
V. Mumbai

Choose the correct answer from the options given below:

LA=-1,B=1II,C-IIl; -V
2A-V,B-1,C-1l,D-1l
LA-WV, Bl C-N,D-1
4.A-1,B-,C-11,D-1IV

Options :

86435145949. 1
86435145950. 2
86435145951. 3
86435145952. 4

Question Number : 14 Question Id : 86435113713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List Il
(INDIAN STATES) (TOURISM SLOGAN)
A. Karnataka: l. Land of Festivals
B. Kerala: I.The Essence of Incredible India
C. Andhara Pradesh: lll. God's Own Country
D. Nagaland: IV.One State Many Worlds
V. The Heart of Incredible India

Choose the correct answer from the options given below:

T.A-IWV,B-1I,C-1I,D-1
2A=1,B=0;CII; D~
3A-V,B-1,C-1l,D-1l
4.A-11,B-1N,C-V,D-V

Options :

86435145953. 1
86435145954. 2
86435145955.3
86435145956. 4

Question Number : 15 Question Id : 86435113714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The percentage of irrigated land in India is about

1. 45
2. 65
3:.35
4. 25



Options :

86435145957. 1
86435145958. 2
86435145959. 3
86435145960. 4

Question Number : 16 Question Id : 86435113715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Indices considered for Human Development Index

A. Life Expectancy Index

B. Education Index

C. Income Index

Choose the correct answer from the options given below:

1. A, B and C only
2. A only

3. A and B only

4. B and C only

Options :

86435145961. 1
86435145962. 2
86435145963. 3
86435145964. 4

Question Number : 17 Question Id : 86435113716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which among the following is considered to be the best soil for plant growth?

1. Sand
2. Clay

3. Loam
4, Silt

Options :

86435145965. 1
86435145966. 2
86435145967. 3
86435145968. 4

Question Number : 18 Question Id : 86435113717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Site refers to the:

1. External features of a place.

2. Precise location of the centre of a city.

3. Proximity to natural resources or transportation routes.
4. Internal locational attributes of a place.

Options :

86435145969. 1
86435145970. 2
86435145971. 3
86435145972. 4

Question Number : 19 Question Id : 86435113718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Arithmetic density in Census

1. cannot be used to compare regions

2. is an absolute relationship such as population per square kilometre
3. is more meaningful than physiclogical density

4. refers to the number of persons per unit of arable land

Options :

86435145973. 1
86435145974. 2
86435145975. 3
86435145976. 4

Question Number : 20 Question Id : 86435113719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following states has the highest density of population in India?

1. West Bengal
2. Kerala

3. Uttar Pradesh
4. Punjab

Options :

86435145977. 1
86435145978. 2
86435145979. 3
86435145980. 4

Question Number : 21 Question Id : 86435113720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following towns/ city is not situated on the bank of river?

1. Agra

2. Bhopal
3. Patna

4, Mumbai

Options :

86435145981. 1
86435145982.2
86435145983. 3
86435145984. 4

Question Number : 22 Question Id : 86435113721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ten Degree Channel is between:

1. Dover and Calais

2. Alaska and Russia

3. Little Andaman and Car Nicobar
4. North Korea and South Korea

Options :

86435145985. 1
86435145986. 2
86435145987. 3
86435145988. 4

Question Number : 23 Question Id : 86435113722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is the oldest port of the eastern coast of India?

1. Kolkata (Haldia)
2. Vishakhapatnam
3. Tuticorin

4, Chennai (Madras)

Options :

86435145989. 1
86435145990. 2
86435145991. 3
86435145992. 4

Question Number : 24 Question Id : 86435113723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the correct order of rivers from north to south?

1. Indus, Chenab, Jhelum, Ravi, Beas
2. Indus, Jhelum, Chenab, Beas, Ravi
3. Indus, Jhelum, Chenab, Ravi, Beas
4, Indus, Chenab, Jhelum, Beas, Ravi

Options :

86435145993. 1
86435145994. 2
86435145995. 3
86435145996. 4

Question Number : 25 Question Id : 86435113724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following factors are responsible for the present crisis in the jute industry in
India?

A. The decline in the overseas market

B. Inadequately supply of raw jute

C. Stiff competition from synthetic packing materials
Choose the correct answer from the options given below:

1. A, B and C only
2. A and B only

3. A only

4. B only

Options :

86435145997. 1
86435145998. 2
86435145999. 3
86435146000. 4

Question Number : 26 Question Id : 86435113725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Yarlung Zangbo river, in India, is known as

1. Ganga

2. Indus

3. Brahmaputra
4. Mahanadi

Options :
86435146001. 1



86435146002. 2
86435146003. 3
86435146004. 4

Question Number : 27 Question Id : 86435113726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following modes of transportation reduces tran-shipment losses and delays

in the supply of petroleum and gases?

1. Railways
2. Roadways
3. Pipeline
4. Waterways

Options :

86435146005. 1
86435146006. 2
86435146007. 3
86435146008. 4

Question Number : 28 Question Id : 86435113727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In recent years, India is earning large amounts of foreign exchange through the export of
which of the following?

1. Ores and Minerals

2. Information Technology
3. Agricultural Products

4. Electrical goods

Options :
86435146009. 1



86435146010. 2
86435146011. 3
86435146012. 4

Question Number : 29 Question Id : 86435113728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following airlines is the nationalised airline of India?

1. Air India

2. Jet Airways

3. Kingfisher Airline
4. Indigo

Options :

86435146013. 1
86435146014. 2
86435146015. 3
86435146016. 4

Question Number : 30 Question Id : 86435113729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following types of communication service in India is the largest in the world?

1. Postal network

2. Television network
3. Internet services

4. Radio broadcasting

Options :

86435146017. 1
86435146018. 2
86435146019. 3
86435146020. 4



Question Number : 31 Question Id : 86435113730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following Indian states has the highest rank in the Human Development

Index?

1. Tamil Nadu

2. Gujarat

3. Kerala

4. Jammu & Kashmir

Options :

86435146021. 1
86435146022. 2
86435146023. 3
86435146024. 4

Question Number : 32 Question Id : 86435113731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following regions has the highest migrant population?

1. Mumbai
2. Delhi

3. Bangalore
4, Chennai

Options :

86435146025. 1
86435146026. 2
86435146027. 3
86435146028. 4



Question Number : 33 Question Id : 86435113732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A landmass bounded by sea on three sides is referred to as

1. Coast

2. Peninsula

3. Island

4, None of the above

Options :

86435146029. 1
86435146030. 2
86435146031. 3
86435146032. 4

Question Number : 34 Question Id : 86435113733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the largest lake in India?

1. Nainital Lake

2. Sambhar Lake
3. Sishram Lake

4. Chilka Lake

Options :

86435146033. 1
86435146034. 2
86435146035. 3
86435146036. 4

Question Number : 35 Question Id : 86435113734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following state is famous for the tropical forest of Silent Valley?

1. Goa

2. Karnataka
3. Kerala

4, Tamil Nadu

Options :

86435146037. 1
86435146038. 2
86435146039. 3
86435146040. 4

Question Number : 36 Question Id : 86435113735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

are also known as Rural industries or Traditional industries

1. Food industry

2. Cottage Industries
3. Automobile industry
4. None of the above

Options :

86435146041. 1
86435146042. 2
86435146043. 3
86435146044. 4

Question Number : 37 Question Id : 86435113736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is defined the northern frontiers of India?

1. Himalayan mountain range
2. Karakoram Range

3. Aravalli Range

4, Satpura Range

Options :

86435146045. 1
86435146046. 2
86435146047. 3
86435146048. 4

Question Number : 38 Question Id : 86435113737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which State is called the sugar bowl of India?

1. Uttar Pradesh
2. Chhattisgarh

3. Andhra Pradesh
4. Bihar

Options :

86435146049. 1
86435146050. 2
86435146051. 3
86435146052. 4

Question Number : 39 Question Id : 86435113738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which state dominates coffee production?

1. Kerala

2. Andhra Pradesh
3. Karnataka

4, Tamil Nadu

Options :

86435146053. 1
86435146054. 2
86435146055. 3
86435146056. 4

Question Number : 40 Question Id : 86435113739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following cities has emerged as the 'Electronic Capital’ of India?

1. Delhi
2. Chennai

3. Bengaluru
4. Hyderbad

Options :

86435146057. 1
86435146058. 2
86435146059. 3
86435146060. 4

Question Number : 41 Question Id : 86435113740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following developments usually follows industrial activity?

1. Agriculture

2. Urbanisation
3. Electrification
4. Mining

Options :

86435146061. 1
86435146062. 2
86435146063. 3
864351460064. 4

Question Number : 42 Question Id : 86435113741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cotton textile industry is a

1. Forest-based industry
2. Key industry

3. Agro-based industry
4. None of the above

Options :

86435146065. 1
86435146066. 2
86435146067. 3
86435146068. 4

Question Number : 43 Question Id : 86435113742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



With reference to the National Highways Development Project (NHDP), consider the following
statements:

A. Belgaum and Nellore lie on the Golden Quadrilateral.
B. Vadodara and Jhansi lie on the East-West Corridor.

C. Ambala and Kanpur lie on the North-South Corridor.
Choose the correct answer from the options given below:

1. A, B and C only
2. B and C only

3. A and B only

4. A only

Options :

86435146069. 1
86435146070. 2
86435146071. 3
86435146072. 4

Question Number : 44 Question Id : 86435113743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is grown in the cold climate of Kashmir?

1. Coconut
2. Palm

3. Saffron
4, Jute

Options :
86435146073. 1



86435146074. 2
86435146075. 3
86435146076. 4

Question Number : 45 Question Id : 86435113744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following region receives rainfall by Western Disturbances?

1. Punjab

2. Kerala

3. Tamil Nadu

4. Karnataka coast

Options :

86435146077. 1
86435146078. 2
86435146079. 3
86435146080. 4

Question Number : 46 Question Id : 86435113745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Metallic compounds that occur naturally are called

1. Metal oxides

2. Minerals

3. Ores

4, None of the above

Options :

86435146081. 1
86435146082. 2
86435146083. 3
86435146084. 4



Question Number : 47 Question Id : 86435113746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following States has the longest coast line?

1. Goa

2. Gujarat

3. Andhra Pradesh
4, Kerala

Options :

86435146085. 1
86435146086. 2
86435146087. 3
86435146088. 4

Question Number : 48 Question Id : 86435113747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Where is India's permanent research station, Dakshin Gangotri?

1. Great Himalayas
2. Indian Ocean

3. Antarctica

4, Arabian Sea

Options :

86435146089. 1
86435146090. 2
86435146091. 3
86435146092. 4

Question Number : 49 Question Id : 86435113748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Which one of the following regions is famous for the world’s largest reserve of Barytes?

1. Chauka hills
2. Jaisalmer

3. Ratnagiri

4. Cuddapah

Options :

86435146093. 1
86435146094. 2
86435146095. 3
86435146096. 4

Question Number : 50 Question Id : 86435113749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The non-renewable resource of energy is

1. Hydel
2. Thermal
3. Solar

4. Wind power

Options :

86435146097. 1
86435146098. 2
86435146099. 3
86435146100. 4

Question Number : 51 Question Id : 86435113750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Tea, Coffee, Spices, Coconut, Rubber, Cardamom and Chillies can altogether be kept in which
one of the following group or groups?

1. Food Crop

2. Cash Crops

3. Food & Cash Crops
4. Plantation Crops

Options :

86435146101. 1
86435146102. 2
86435146103. 3
86435146104. 4

Question Number : 52 Question Id : 86435113751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first Metro Railway was inaugurated in Kolkata in

1. 1982
2. 1987
3. 1984
4, 1990

Options :

86435146105. 1
86435146106. 2
86435146107. 3
86435146108. 4

Question Number : 53 Question Id : 86435113752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The State with the largest area under waste land is

1. Gujarat

2. Madhya Pradesh

3. Jammu and Kashmir
4. Rajasthan

Options :

86435146109. 1
86435146110. 2
86435146111.3
86435146112. 4

Question Number : 54 Question Id : 86435113753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

India's first stock exchange, The Bombay Stock Exchange was established in:

1. 1875
2. 1884
3. 1882
4, 1880

Options :

86435146113. 1
86435146114. 2
86435146115. 3
86435146116. 4

Question Number : 55 Question Id : 86435113754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The largest mangrove forest in the world is located in:

1. Kerala

2. West Bengal

3. Tamil Nadu

4. Madhya Pradesh

Options :

86435146117. 1
86435146118. 2
86435146119. 3
86435146120. 4

Question Number : 56 Question Id : 86435113755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following states is well known for terrace cultivation?

1. Punjab

2. Haryana

3. Plains of Uttar Pradesh
4, Uttarakhand

Options :

86435146121. 1
86435146122.2
86435146123.3
86435146124. 4

Question Number : 57 Question Id : 86435113756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The Indo-Gangetic Plains of India are fertile due to

1. The heavy and timely rains and forests

2. Alluvial soils brought by the rivers from the mountains
3. Hard labour of the farmers over the generations

4. Better irrigation facilities

Options :

86435146125. 1
86435146126.2
86435146127. 3
86435146128. 4

Question Number : 58 Question Id : 86435113757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Crude Birth Rate is defined as:

1. No. of births per 10 thousand populations
2. No. of births per 20 thousand populations
3. No. of births per 50 thousand populations
4. No. of births per thousand populations

Options :

86435146129. 1
86435146130. 2
86435146131. 3
86435146132. 4

Question Number : 59 Question Id : 86435113758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following sectors has a greater proportion of the total water used in India?

1. Irrigation

2. Domestic use

3. Industries

4. Mining and coal field

Options :

86435146133. 1
86435146134.2
86435146135. 3
86435146136. 4

Question Number : 60 Question Id : 86435113759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What was the reason for development of the first modern cotton mill in Mumbai?

1. Mumbai is a port

2. It is located near cotton growing area
3. Mumbai was the financial centre

4. All of the above

Options :

86435146137. 1
86435146138. 2
86435146139. 3
86435146140. 4

Question Number : 61 Question Id : 86435113760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The two volcanic islands in the Indian territory are:

1. Kavaratti and New Moor
2. Bitra and Kavaratti

3. Pamban and Barren

4, Narcondam and Barren

Options :

86435146141. 1
86435146142.2
86435146143.3
86435146144. 4

Question Number : 62 Question Id : 86435113761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is east of the Andaman and Nicobar Islands?

1. Thailand

2. Sri Lanka

3. Indonesia

4. All of the above

Options :

86435146145. 1
86435146146. 2
86435146147. 3
86435146148. 4

Question Number : 63 Question Id : 86435113762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following States shares boundaries with the maximum number of other
States of India?

1. Madhya Pradesh
2. Maharashtra

3. Assam

4, Bihar

Options :

86435146149. 1
86435146150. 2
86435146151. 3
86435146152. 4

Question Number : 64 Question Id : 86435113763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the usual rule of calculation of time were applied for the extremes of Gujarat and Arunachal
Pradesh, then approximately time:

1. at Gujarat would be ahead of that at Arunachal Pradesh by about 3 hours
2. at Gujarat would be ahead of that at Arunachal Pradesh by about 2 hours
3. at Arunachal Pradesh would be ahead of that at Gujarat by about 3 hours
4. at Arunachal Pradesh would be ahead of that at Gujarat by about 2 hours

Options :

86435146153. 1
86435146154. 2
86435146155.3
86435146156. 4

Question Number : 65 Question Id : 86435113764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The chemical industry in India contributes, approximately

1. 3% of GDP
2. 4% of GDP
3. 5% of GDP
4. 6% of GDP

Options :

86435146157. 1
86435146158. 2
86435146159. 3
86435146160. 4

Question Number : 66 Question Id : 86435113765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List Il

Industry Operation

A. A small scale industry I. Operated by government and individuals
B. Public Sector industry Il. The maximum investment is 1 cr

C. Private Sector industry Ill. Operated by government

D. Joint Sector industry IV. Operated by individuals

Choose the correct answer from the options given below:

T.A-1I1,B-,C-IV,D-1
2ZA-1,B-1C-ILD-I¥
3A-IV,.B-IIl,C-11,D -l
4 A-ILB-IV,C-1,D-1l

Options :



86435146161. 1
86435146162. 2
86435146163. 3
86435146164. 4

Question Number : 67 Question Id : 86435113766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Jute policy was formulated with the objectives of

1. Increase in productivity
2. Improvement in quality
3. Good price for farmers
4. All of the above

Options :

86435146165. 1
86435146166. 2
86435146167. 3
86435146168. 4

Question Number : 68 Question Id : 86435113767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Most of the livestock In India are owned by

1. Land lords

2. Farmers

3. Land lords and farmers

4. Marginal farmers and land less

Options :

86435146169. 1
86435146170. 2
86435146171. 3



86435146172. 4

Question Number : 69 Question Id : 86435113768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mixed village is the mixture of pattern of settlement.

1. Nucleated and Dispersed
2. Linear and Dispersed

3. Nucleated and Linear

4. All of the above

Options :

86435146173. 1
86435146174. 2
86435146175.3
86435146176. 4

Question Number : 70 Question Id : 86435113769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

cereeeneene. TOUTISM has become a new avenue for earning income for rural farmers.

1. Spiritual Tourism
2. Medical Tourism
3. Eco Tourism

4. Agri —Tourism

Options :

86435146177. 1
86435146178. 2
86435146179. 3
86435146180. 4

Question Number : 71 Question Id : 86435113770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Chemical products includes

1. Explosives

2. Varnishes and lacquers
3. Drugs and medicines
4. All of the above

Options :

86435146181. 1
86435146182. 2
86435146183.3
86435146184. 4

Question Number : 72 Question Id : 86435113771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Land degradation due to

1. Soil erosion

2. Soil Stalinization
3. Water logging
4, All of the above

Options :

86435146185. 1
86435146186. 2
86435146187. 3
86435146188. 4

Question Number : 73 Question Id : 86435113772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



JPMA stands for

1. Joint Product and Material Act
2. Joint Property and Material Act
3. Jute Products and Materials Act
4. Jute Packing and Materials Act

Options :

86435146189. 1
86435146190. 2
86435146191. 3
86435146192. 4

Question Number : 74 Question Id : 86435113773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Evolutionary Regional plan should consist of

1. Receptivity to new technologies for infrastructure advances
2. Enforceable standards of performance

3. Vague ideas

4. Concern for the environment

Options :

86435146193. 1
86435146194. 2
86435146195. 3
86435146196. 4

Question Number : 75 Question Id : 86435113774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The Foreign Trade Policy of India is guided by the

1. Export Import bank

2. Foreign Trade Development and Regulation Act
3. Government of India

4. Reserve Bank of India

Options :

86435146197. 1
86435146198. 2
86435146199. 3
86435146200. 4

Question Number : 76 Question Id : 86435113775 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When was the National Policy on Education launched?

1. 1986
2. 1988
3. 1990
4, 1991

Options :

86435146201. 1
86435146202. 2
86435146203. 3
86435146204. 4

Question Number : 77 Question Id : 86435113776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The First Five Year Plan in India was between

1. 1950-55
2.:1951-56
3. 1961-66
4. 1960-65

Options :

86435146205. 1
86435146206. 2
86435146207. 3
86435146208. 4

Question Number : 78 Question Id : 86435113777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who can play a leading role in the task of rural reconstruction?

1. Government servant
2. Rural youth

3. Government

4. All of the above

Options :

86435146209. 1
86435146210. 2
86435146211. 3
86435146212. 4

Question Number : 79 Question Id : 86435113778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which type of migration is rare in India?

1. External Migration
2. Internal Migration
3. Immigration

4. Emigration

Options :

86435146213. 1
86435146214.2
86435146215. 3
86435146216. 4

Question Number : 80 Question Id : 86435113779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What proportion of women and girls in India are married (as in 2011 Census):

1. 60 percent
2. 40 percent
3. 30 percent
4, 70 percent

Options :

86435146217. 1
86435146218. 2
86435146219. 3
86435146220. 4

Question Number : 81 Question Id : 86435113780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WPI stands for

1. Wholesale Price Index

2. Wholesale Product Index
3. Wealth Product Index

4, Wealth Price Index

Options :

86435146221. 1
86435146222.2
86435146223. 3
86435146224. 4

Question Number : 82 Question Id : 86435113781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The condiments and spices include

1. Rice, Wheat, Jowar, Bajra, Maize, Barley, and Ragi.

2. Black pepper, Dry Chilies, Turmeric, Cardamoms, Ginger/ dry, Betel nuts, Cumin seeds, Garlic
and Coriander

3. Tapioca, Ginger, Green Peas, Tomatoes, Cauliflower, Brinjal, Okra and Cabbage

4. Grams, Arhars, Moong Dal, Masur Dal, and Urad Dal.

Options :

86435146225. 1
86435146226. 2
86435146227. 3
86435146228. 4

Question Number : 83 Question Id : 86435113782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following longitudes is the standard meridian of India?

1. 69°30'E
2. 75°30°E
3. 82°30°E
4. 90°30°E

Options :

86435146229. 1
86435146230.2
86435146231. 3
86435146232. 4

Question Number : 84 Question Id : 86435113783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a mixture of copper, brass, lead, tin, silver and gold.

1. Metal alloy

2. Ancient metal
3. Steel

4. Panchaloha

Options :

86435146233. 1
86435146234. 2
86435146235. 3
86435146236. 4

Question Number : 85 Question Id : 86435113784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who wrote the National Anthem of India?

1. Rabindranath Tagore
2. Bharatiyar

3. Sarojini Naidu

4. Florence Nightingale

Options :

86435146237. 1
86435146238.2
86435146239. 3
86435146240. 4

Question Number : 86 Question Id : 86435113785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

India is one of the countries where designs are used very widely in different places.

1. Bidri

2. Kasuti

3. Wall art
4, Terracotta

Options :

86435146241. 1
86435146242.2
86435146243. 3
86435146244. 4

Question Number : 87 Question Id : 86435113786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which issue is indeed a global issue?

1. Livestock

2. Foriegn trade
3. Agriculture
4. Poverty

Options :

86435146245. 1
86435146246. 2
86435146247. 3
86435146248. 4

Question Number : 88 Question Id : 86435113787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Industries are a major contributor to India’'s export revenue.

1. Indian handlooms

2. Indian handicraft

3. Indian Jute industries

4. Indian Jewellery industry

Options :

86435146249. 1
86435146250. 2
86435146251. 3
86435146252. 4

Question Number : 89 Question Id : 86435113788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Largest silk producer in the country is

1. Telangana

2. Karnataka

3. Andhra Pradesh
4, Tamil Nadu

Options :

86435146253. 1
86435146254.2
86435146255. 3
86435146256. 4

Question Number : 90 Question Id : 86435113789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rourkela steel plant was set up with the assistance of

1. England
2. Germany
3. Russia
4, France

Options :

86435146257. 1
86435146258. 2
86435146259. 3
86435146260. 4

Question Number : 91 Question Id : 86435113790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



It is mandatory to revise the master plan once in every,

1. 10 years
2. 8 years
3. b years
4. 5 years

Options :

86435146261. 1
86435146262.2
86435146263. 3
86435146264. 4

Question Number : 92 Question Id : 86435113791 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

First railway line of the country, was between

1. Mumbai-Delhi
2. Mumbai-Pune
3. Mumbai-Thane
4. Mumbai-Kolkata

Options :

86435146265. 1
86435146266. 2
86435146267. 3
86435146268. 4

Question Number : 93 Question Id : 86435113792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The Exchange of goods and services between two or more different countries is also known as

1. International Trade
2. Internal trade

3. External trade

4, All of the above

Options :

86435146269. 1
86435146270. 2
86435146271. 3
86435146272. 4

Question Number : 94 Question Id : 86435113793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Both poor and rich from the country side migrate to the urban areas under the influence of,

1. Push factors

2. Pull Factors

3. Both push and pull factors
4. None of the above

Options :

86435146273. 1
86435146274. 2
86435146275. 3
86435146276. 4

Question Number : 95 Question Id : 86435113794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



According to Urbanization report of World Bank, only percent of
urban population of India has access to improved sanitation facilities.

1.12
2. 67
3.45
4. 58

Options :

86435146277. 1
86435146278. 2
86435146279. 3
86435146280. 4

Question Number : 96 Question Id : 86435113795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following rocks are deposited and accumulated in the strata’s?

1. Sedimentary rocks
2. Igneous rocks
3. Metamorphic rocks
4. Plutonic rocks

Options :

86435146281. 1
86435146282. 2
86435146283. 3
86435146284. 4

Question Number : 97 Question Id : 86435113796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The fertilizer industry is centered around the production of

1. Nitrogen fertilizer
2. Organic fertilizer

3. Inorganic fertilizer
4. Phosphate fertilizer

Options :

86435146285. 1
86435146286. 2
86435146287. 3
86435146288. 4

Question Number : 98 Question Id : 86435113797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The highest percentage decadal growth rate of population as per 2011 Census was registered
by:

1. Maharastra
2. Punjab

3. Haryana

4. Meghalaya

Options :

86435146289. 1
86435146290. 2
86435146291. 3
86435146292. 4

Question Number : 99 Question Id : 86435113798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The full form of BPO is

1. Business Progress Outstanding
2. Business Processes Qutstanding
3. Business Processes outsourcing
4. None of the above

Options :

86435146293. 1
86435146294. 2
86435146295. 3
86435146296. 4

Question Number : 100 Question Id : 86435113799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following rock systems in India is the main source of coal deposits?

1. Dharwar system

2. Vindhyan system
3. Gondwana system
4. Cudapah system

Options :

86435146297. 1
86435146298. 2
86435146299. 3
86435146300. 4



